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Adet RMS (ppm)
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1D pull distribution
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Std Dev
Underflow
Overflow
X2 / ndf
Constant

Mean
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lagr_asym_us_avg RMS (ppm)
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lagr_asym_usr RMS (ppm)
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1D pull distribution
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Mean
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Std Dev
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lagr_asym_usl RMS (ppm)
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lagr_asym_us_dd RMS (ppm)

° — 8viLe

° — LviLe
° — 9vile

° — svLLE

° — vviLE

° — €Ll

° — zvile

° —TvLLE

° — ovlLe

° — 6'€LLE

° — 8'eLLe
— relLe
— 9eLLe
° — selLe

° — veLLe

° — eeLLe

° — zeLLe

° —{TeLe

° — oelLe
° — ot'zLLe

° — 62LLE

° — 82iLe

° — L2e

° — 9ziLe

° — s2zLLe

° — v'ziLe

° — e2LLe

° — zzie

° —{reue

e —ozue

° — eTLLe

° — zTLE

° —{T1LE

° — 0TiLe
° —{otosse

° — 6'0LL8

° —{ soLLe

° — LoLLe

° —{ 9oL
° — 0Ll

° — 0Ll

° — €0LL8
— zolLe

—ToLLe

° — 00l
° — 6'69.¢

° — 8'69.¢

° —{ z'69L8
° — 969.¢

° — g'69L¢

° — v'69.€

° — €69.€

° — z69.€

—{ 1698

| | H o069

_______
—
o

91.5—

(wdd) sy



	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10


